Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal http://www.mathbalkanica.info

or contact:

Mathematica Balkanica - Editorial Office; Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria Phone: +359-2-979-6311, Fax: +359-2-870-7273, E-mail: balmat@bas.bg



New Series Vol.10, 1996, Fasc.2-3

On a Bibasic Transformation Formula

U.B. Singh

Presented by P. Kenderov

In this paper, we derive a general transformation formula which involve two different bases and also discuss a few interesting special and limiting cases of this transformation, including two classes of identities of the Rogers – Ramanujan type.

1. Introduction

As is well-known, there is an innate relationship between the transformation theory of basic hypergeometric series and hypergeometric identities. The celebrated Rogers-Ramanujan identities are the most well-known illustration of this relationship in the unibasic case. The pioneering work of Andrews [3] and Agarwal and Verma ([1], [2]) on basic hypergeometric series involving two unrelated bases has provided the impetus for an extensive study of transformations connecting basic hypergeometric series with two different bases (see, for example, Verma and Jain ([12], [13], [14]), Gasper [6], Gasper and Rahman [7], and Rahman [9]). The relationship between transformations connecting basic hypergeometric series involving two different bases and identities of the Rogers-Ramanujan type has been studied in some detail by Verma and Jain ([12], [14]). Their work has led in turn to a whole new wide class of identities of the Rogers-Ramanujan type involving either moduli greater that five or double series or both.

In this paper, we shall first derive a general transformation formula involving two different bases, and then discuss a few interesting special cases, including two classes of identities of the Rogers-Ramanujan type.

2. Notation

For
$$|p| < 1$$
, let ([11];p.90)
 $(a; p)_0 = 1$, $(a; p)_n = (1-a)...(1-ap^{n-1})$, $n > 1$;

$$((a_A);p)_n=(a_1;p)_n...(a_A;p_n);(a;p)_{\infty}=\prod_{n=1}^{\infty}(1-ap^{n-1})\cdot$$

A generalized basic hypergeometric series is defined ([8]; p.4) by

$${}_{A}\phi_{B}\left[\begin{array}{cc} (a_{A}); & p; & z \\ (b_{B}) & & \end{array}\right] = \sum_{n=0}^{\infty} \frac{((a_{A}); p)_{n} z^{n}}{(p; p)_{n}((b_{B}); p)_{n}} \{(-1)^{n} p^{\binom{n}{2}}\}_{1+B-A}$$

with $\binom{n}{2} = n(n-1)/2$, where $p \neq 0$ when A > B + 1. Further, let

$$E_n = \frac{((\alpha_p); q)_n((\beta_R); q^2)_n}{((\gamma_Q); q)_n((\delta_S); q^2)_n},$$

and

$$F_n(a,b) = \frac{(a,b;q)_n q}{(q;q)_n (abq; q^2)_n}.$$

3. We shall prove the following general bibasic transformation formula:

(1)
$$\sum_{j=0}^{\infty} F_{j}(a,b) \sum_{n=0}^{\lfloor j/2 \rfloor} \frac{(q^{-j};q)_{2n}}{(q;q)_{n}} q^{\lambda} {n+1 \choose 2}_{E_{n}\theta_{n}}$$

$$= \frac{(-q;q)_{\infty} (aq,bq;q^{2})_{\infty}}{(abq;q^{1})_{\infty}} \sum_{n=0}^{\infty} \frac{(a,b;q^{2})_{n}}{(q;q)_{n}} q^{\lambda} {n+1 \choose 2}_{E_{n}\theta_{n'}}$$

where θ_n is any sequence of numbers, real or complex.

Proof. In view of the q-analog of Gauss's second summation theorem ([4]; eq. (1.8)), we have

(2)
$$\sum_{r=0}^{\infty} F_r(aq^{2n}, bq^{2n}) = \prod [-q; q] \prod \begin{bmatrix} aq^{2n+1}, & bq^{2n+1}; q^2 \\ abq^{4n+1} \end{bmatrix}.$$

Multiplying both sides of (2) by $E_n\theta_nq$ $\binom{n+1}{2}$ and summing from n=0 to ∞ , we get

$$\sum_{n=0}^{\infty} E_n \theta_n q^{\lambda} \binom{n+1}{2} \sum_{r=0}^{\infty} F_r(aq^{2n}, bq^{2n})$$

$$= \prod [-q; q] \sum_{n=0}^{\infty} E_n \theta_n q^{\lambda} \binom{n+1}{2} \prod \begin{bmatrix} aq^{2n+1}, bq^{2n+1}; q^2 \\ abq^{4n+1} \end{bmatrix}.$$

On replacing r by j-2n here and changing the order of summation, we get the following transformation:

(3)
$$\sum_{j=0}^{\infty} F_{j}(a,b) \sum_{n=0}^{\lfloor j/2 \rfloor} \frac{(q^{-j};q)_{2n}(abq;q^{2})_{2n}}{(a,b;q)_{2n}} q^{\lambda} {n+1 \choose 2} E_{n}\theta_{n}$$

$$= \prod [-q;q] \sum_{n=0}^{\infty} E_{n}\theta_{n} q^{\lambda} {n+1 \choose 2} \prod \begin{bmatrix} aq^{2n+1}, & bq^{2n+1}; q^{2} \\ abq^{4n+1} \end{bmatrix}.$$

Replacing R, S and Q now by R+4, S+4 and Q+1, respectively, and suitably choosing the nine new additional parameters, we easily get (1) after some simplification.

We shall now discuss a few special cases of (1). We first deduce four summation theorems.

(i) Let us take P=0=R, Q=1=S, $\gamma_1=-q$, $\delta_1=c$, $\lambda=0$ and $\theta_n=(c/ab)^n$ in (1). Then, summing the series on the right of the resulting transformation by the q-analogue of Gauss's theorem ([11]; eq. (3.3..2.5)), we get

(4)
$$\sum_{j=0}^{\infty} F_j(a,b)_2 \phi_1 \left[\begin{array}{ccc} q^{-j}, & q^{-j+1}; & q^2; & c/ab \\ c & & \end{array} \right]$$

$$= \prod \left[\begin{array}{ccc} c/a, & c/b, & aq, & bq; & q^2 \\ c, & c/ab, & abq \end{array} \right] \prod [-q;q].$$

(ii) Let us take P=0=R, Q=1, S=2, $\gamma_1=-q$, $\delta_1=-q^2$, $\delta_2=c$, $\lambda=2$, $\theta_n=(c/q^2)^n$ and $a=q^2/b$ in (1). Then, summing the resulting series on the right of (1) by the q-analogue of Bailey's theorem ([4]; eq. (1.9)), we get

(5)
$$\sum_{j=0}^{\infty} F_j(q^2/b, b)_2 \phi_2 \left[\begin{array}{ccc} q^{-j}, & q^{-j+1}; & q^2; & -c \\ -q^2, & c \end{array} \right]$$

$$=\prod\left[\begin{array}{ccc}q\sqrt{c/b},&-q\sqrt{c/b},&\sqrt{bc},&-\sqrt{bc},&q^3/b,&bq&q^2\\c,&&q^3\end{array}\right]\prod[-q;q].$$

(iii) If we take P=0=R, Q=1=S, $\gamma_1=-q$, $\delta_1=aq^2/b$, $\lambda=0$ and $\theta_n=(-q^2/b)^n$ in (1) and sum the resulting series on the right of (1) by the q-analogue of Kummer's theorem ([4]; eq. (1.7)), we get

(6)
$$\sum_{j=0}^{\infty} F_j(a,b)_2 \phi_1 \left[\begin{array}{cc} q^{-j}, & q^{-j+1}; & q^2; & -q^2/b \\ aq^2/b & & \end{array} \right]$$

$$= \prod \left[\begin{array}{cccc} q\sqrt{a}, & -q\sqrt{a}, & q^2\sqrt{a}/b, & -q^2\sqrt{a}/b, & -q^2, & aq, & bq; & q^2 \\ aq^2/b, & -q^2/b, & abq \end{array} \right] \prod [-q;q].$$

(iv) Lastly, let us take P=0, R=2, Q=1 S=3, $\beta_1=\sqrt{c}$, $\beta_2=-\sqrt{c}$, $\gamma_1=q\sqrt{ab}$, $\delta_2=-q\sqrt{ab}$, $\delta_3=c$, $\lambda=0$ and $\theta_n=q^{2n}$ in (1) and assume that b is of the form q^{-2N} (when N is a positive integer). Then, summing the series on the right of the resulting transformation by the q-analogue of Watson's theorem [5], we get the following summation theorem:

(7)
$$\sum_{j=0}^{\infty} F_j(a,b)_4 \phi_3 \left[\begin{array}{ccc} \sqrt{c}, & -\sqrt{c}, & q^{-j}, & q^{-j+1}; & q^2; & q^2 \\ q\sqrt{ab}, & -q\sqrt{ab}, & c \end{array} \right]$$

$$= a^{N/2} \prod \left[\begin{array}{ccc} aq^2, & bq^2, & cq^2/a, & cq^2/b; & q^4 \\ q^2, & abq^2, & cq^2, & cq^2/ab \end{array} \right] \prod \left[\begin{array}{ccc} aq, & bq; & q^2 \\ abq & \end{array} \right] \prod [-q;q].$$

4. Finally, we consider a particular case of (1) and deduce from it two classes of identities of the Rogers-Ramanujan type.

Let us take
$$P=0,\ R=4,\ Q=1,\ S=5,\ \beta_1=q^2\sqrt{a},\ \beta_2=-q^2\sqrt{a},\ \beta_3=c,\ \beta_4=d,\ \gamma_1=-q,\ \delta_1=\sqrt{a},\ \delta_2=-\sqrt{a},\ \delta_3=aq^2/b,\ \delta_4=aq^2/c,$$

 $\delta_5 = aq^2/d$, $\theta_n = (a^2/bcd)^n$ and $\lambda = 2m$, m = 1, 2, ... in (1). Then (1) becomes

(8)
$$\sum_{i=0}^{\infty} F_{j}(a,b) \sum_{n=0}^{[j/2]} \frac{(q^{2}\sqrt{a}, -q^{2}\sqrt{a}, c, d; q^{2})_{n}(q^{-j}; q)_{2n}q}{(q^{2}, \sqrt{a}, -\sqrt{a}, aq^{2}/c, aq^{2}/d, aq^{2}/b; q^{2})_{n}} (a^{2}/bcd)^{n}$$

$$=\frac{(-q;q)_{\infty}(aq,bq;q^{2})_{\infty}}{(abq;q^{2})_{\infty}}\sum_{n=0}^{\infty}\frac{(a,q^{2}\sqrt{a},-q^{2}\sqrt{a},b,c,d;q^{2})_{n}q}{(q^{2},\sqrt{a},-\sqrt{a},aq^{2}/b,aq^{2}/c,aq^{2}/d;q^{2})_{n}}\times \\ \times (a^{2}/bcd)^{n}.$$

If we now make $b \to 0$ and $c, d \to \infty$ in (8), we get the following transformation:

(9)
$$\sum_{j=0}^{\infty} F_j(a,0) \sum_{n=0}^{[j/2]} \frac{(1-aq^{4n})(q^{-j};q)_{2n}}{(q^2;q^2)_n} (-a)^n q^{(m+1)n^2+(m-3)n}$$
$$= (-q;q)_{\infty} (aq;q^2)_{\infty} \sum_{n=0}^{\infty} \frac{(a;q^2)_n (1-aq^{4n})}{(q^2;q^2)_n} (-a)^n q^{(m+1)n^2+(m-3)n}.$$

For $a = q^2$, the series on the right of (9) can be seen to be transformable into a bilateral series which can be summed with the help of Jacobi's triple product identity ([11]; eq. (3.5.8)). We thus get the following identity, which is believed to be new:

$$(10) \sum_{j=0}^{\infty} (1-q^{j+1})q^{\binom{j+1}{2}} \sum_{n=0}^{\lfloor j/2 \rfloor} \frac{(1-q^{4n+2})(q^{-j};q)_{2n}}{(q^2;q^2)_n} (-1)^n q^{mn^2+(m-2)n}$$

$$= \prod_{n=1}^{\infty} (1-q^{2mn-2})(1-q^{2mn-2m+2})(1-q^{2mn})(1+q^n)(1-q^{2n-1}),$$

where m = 2, 3....

In particular, for m = 3, we have

$$(11) \qquad \sum_{j=0}^{\infty} (1-q^{j+1})q^{\binom{j+1}{2}} \sum_{n=0}^{\lfloor j/2 \rfloor} \frac{(1-q^{4n+2})(q^{-j};q)_{2n}}{(q^2;q^2)_n} (-1)^n q^{3n^2+n}$$

$$=\prod_{n=1}^{\infty}(1-q^{6n-2})(1-q^{6n-4})(1-q^{6n})(1+q^n)(1-q^{2n-1}).$$

It may be noted that if we compare (10) with the following generalized hypergeometric identity ([10]; Theorem 2) of the Schur-Gleissberg type (for r = 2):

(12)
$$\prod_{n=1}^{\infty} \frac{(1-q^{2mn-r})(1-q^{2mn-2m+r})(1-q^{2mn})}{(1-q^n)} = \left\{ \prod [-q;q] \right\}^{-1} \sum_{t=0}^{\infty} \frac{B_{m,t}(r,q)}{(q;q)_t},$$

where $1 \le r \le m$ and $B_{m,t}(r,q)$ are certain polynomials ([10]; Theorem 2), we get the following interesting transformation:

$$(13) \sum_{j=0}^{\infty} (1-q^{j+1})q^{\binom{j+1}{2}} \sum_{n=0}^{\lfloor j/2 \rfloor} \frac{(1-q^{4n+2})(q^{-j};q)_{2n}}{(q^2;q^2)_n} (-1)^n q^{mn^2+(m-2)n}$$

$$= \prod_{n=1}^{\infty} (1-q^n)(1-q^{2n-1}) \sum_{t=0}^{\infty} \frac{B_{m,t}(2,q)}{(q;q)_t},$$

where m = 2, 3,

Again, if we take c=q in (8) and make $b\to 0$, $d\to \infty$, we get the following transformation:

$$(14) \qquad \sum_{j=0}^{\infty} F_{j}(a,0) \sum_{n=0}^{\lfloor j/2 \rfloor} \frac{(1 - aq^{4n})(q;q^{2})_{n}(q^{-j};q)_{2n}}{(q^{2},aq;q^{2})_{n}} a^{n} q^{mn^{2} + (m-3)n}$$

$$= (-q;q)_{\infty} (aq;q^{2})_{\infty} \sum_{n=0}^{\infty} \frac{(a;q^{2})_{n}(1 - aq^{4n})(q;q^{2})_{n}}{(q^{2};q^{2})_{n}(aq;q^{2})_{n}} a^{n} q^{mn^{2} + (m-3)n}.$$

Proceeding as in the case of (10) above, we now get the following identity, which is also believed to be new:

(15)
$$\sum_{j=0}^{\infty} (1-q^{j+1})q^{\binom{j+1}{2}} \sum_{n=0}^{\lfloor j/2 \rfloor} \frac{(1+q^{2n+1})(q^{-j};q)_{2n}}{(q^2;q^2)_n} q^{mn^2+(m-1)n}$$

$$= \prod_{n=1}^{\infty} (1+q^{2mn-1})(1+q^{2mn-2m+1})(1-q^{2mn})(1+q^n)(1-q^{2n-1}),$$

where m = 1, 2,

I am grateful to Dr. V.N. Singh for his kind guidance in the preparation of this paper.

References

- 1. R.P. Agarwal, A. Verma. Generalized basic hypergeometric series with unconnected bases. *Proc. Camb. Phil. Soc.* 63, 1967, 727-734.
- 2. R.P. Agarwal, A. Verma. Generalized basic hypergeometric series with unconnected bases. *II*, Quart. J. Math. 18, 1967, 181-192; Corrigenda, ibid, 21 (1970), 384.
- 3. G. E. Andrews. On basic hypergeometric series, mock theta functions, partitions. I, Quart. J. Math. 17, 1966, 65-80.
- 4. G. E. Andrews. On q-analog of Kummer's theorem, applications, Duke Math. J 40, 1973, 525-528.
- 5. G. E. Andrews. On q-analogues of Watson, Whipple summations. SIAM J. Math. Anal. 7, 1976, 332-336.
- 6. G. Gasper. Summation, transformation, extension formulas for bibasic series. Trans. Amer. Math. Soc., 312, 1989, 257-277.
- 7. G. Gasper, M. Rahman. An indefinite bibasic summation formula, some quadratic, cubic, quartic summation, transformation formulas. *Canad. J. Math.*, 42, 1990, 1-27.
- 8. G. Gasper, M. Rahman. Basic Hypergeometric Series. Cambridge University Press, Cambridge, 1990.
- 9. M. Rahman. Some cubic summation formulas for basic hypergeometric series, *Utilitas Mathematica* 36, 1989, 161-172.
- 10. U.B. Singh. Certain generalized hypergeometric identities of the Schur-Gleissberg type, *Ganita* 41, 1990, 61-68.
- 11. L.J. Slater. Generalized Hypergeometric Functions, Cambridge University Press, Cambridge, 1966.
- 12. A. Verma, V.K. Jain. Transformations between basic hypergeometric series on different bases, identities of Rogers-Ramanujan type. *J. Math. Anal. Appl.* 76, 1980, 230-269.

- 13. A. Verma, V.K. Jain. Some summation formulae of basic hypergeometric series. *Indian J. Pure. Appl. Math* 11, 1980, 1021-1038.
- 14. A. Verma, V.K. Jain. Transformations of non-terminating basic hypergeometric series, their contour integrals, application to Rogers-Ramanujan identities. *J. Math. Anal. Appl.* 87, 1982, 9-44.

Department of Mathematics and Astronomy Lucknow University Lucknow - 226 007 INDIA

Received 12.05.94